THIS DRAWING IS UNPUBLISHED. ‘ RELEASED FOR PUBLICATION SEP ,2005. LOC DIST REVISIONS
@ COPYRIGHT 2005 By — AL RIGHTS RESERVED. — P TR DES?R%PT\ON DATE DWN APVD
1 CONTACT COPLANALITY IS 0.1 MAX. 1T 2203737 UF+—x 0.1 LT, S REVISED PER ECR—=15—-016490 11Nov2015| T.7 [H.W
/\ THIS DIMENSION MEANS CENTER OF THE POCKET. P\ AHEE KT Y b OPDEET,
D /3 M3 TAPPING + BVTP RECOMMENDED TORQUE: 68.6N (7Kgf) MAX. /A M3 TAPPING + BVTP #32 kb2 68.6N (7Kgf) BT, D
/A FINISH /N
CONTACT: V «m MIN. Au PL. ON CONTACT AREA (V: SEE TABLE) JV52b:3VIORTIUTIE V um MED 200 (V: 228)
0.03~0.1 #m Au PL. ON TERMINAL AREA 5—=XFWIUFK 0.03~0.1 um OEHo %
Ni UNDER PL. ALL OVER Zu TV > $ BT
SHELL: Sn PL. (MATTE) ALL OVER SEWI TTHo & (DPHL)
Ni UNDER PL. ALL OVER Zu TV > ¥ & T
- /A\ SCREW SIZE A\ 2901842 -
/B\ QTY PRINT ON THE LABEL. (EMBOSS PACKING) A\ BRIES~LzBFEE 3 (EMBOSS 184)
SOFT TRAY
0.3 — B\ 70| 1.9 | - - - — [ 335|37.5]9.32| 0.4 | 32 | 28.4|14.2| 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) |igep gpger 11y| 6—1903015-3
0.76 | M3 x 0.5 700 1.9 | 46 | 138 |6-23| 46 | — | — | — | — | = | = | - | - WITH TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) | (ff specr )| 9~ 1903015—4
0.3 | M3 x 05 |A 200 19| - | - - — | 455(495|183| 0.5 | 44 | 40.4|20.2 | 20 WITH TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) | oot syeer o) | 9~ 19030153
0.3 M3 x 0.5 701 1.9 - - - - — — — — — — — — WITHOUT TAPE WITH FLANGE THROUGH HOLE | (SEE SHEET 3) (SESEOFSTHEEMW 8—1903015—4
0.1 - A 550 1.9 | — | - - ~ | 335|375(9.32| 0.4 | 32 | 284|142 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) | et Sieer 6y | 7— 1903015
“T 05 | ws x06 |A 200 10| - | - - ~ | 455|49.5(183| 0.5 | 44 | 40.4|20.2]| 20 WITHOUT TAPE WITH FLANGE FULL SMT | (SEE SHEET 5) | (qep speer g) | 519030159 C
0.3 = A 5500 08 | — | - = — | 335|375(932| 04 | 32 | 284|142 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) | oct seer o) | 5—1903015-5
0.3 M3 x 0.5 700 1.9 | 46 | 138 | 6-23 | 46 - - - - - - - - WITHOUT TAPE WITH FLANGE THROUGH HOLE | (SEE SHEET 3) (SESZHTE??Ym 5-1903015-4
0.3 M3 x 0.5 @ 200] 1.9 — — — — | 45.5149.5|18.3| 0.5 | 44 | 40.4|20.2| 20 WITHOUT TAPE WITH FLANGE THROUGH HOLE | (SEE SHEET 3) (SEEEMSBHOESEST 6) 5-1903015-3
] N & [ B Al =Sl AN n 1 O A (= 1 Q [ &) A =~ WAL NIV - TIIDALIALL LA /(- QUIEET SOFT TRAY iy 100 N1 o) -
(VA /3N Pz 0000 ¥ R FO o0 O—2J F0O — — — — — — — — WITHOUT TAPE WITTT T CANGE RIANVACAC) i i i A0 i oottt (SEE SHEET 7) = 1 HoITTo=
0.3 - MA400| 19| - | - - — 1 335(375[9.32| 04 | 32 |28.4|14.2]| 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) (SEEEMSBHOESEST 5) | 5-1903015-1
0.3 M3 x 0.5 701 1.0 46 138 | 6=23 46 — — — — — — — WITHOUT TAPE WITH FLANGE THROUGH HOLE | (SEE SHEET 3) (SESZHTEE/?YU 4—1903015—1
0.76 - A 400 1.2 | - | - - ~ | 335(37.5[9.32| 0.4 | 32 [28.4|14.2| 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) | (sct sieet o) | 2= 1903015-2
0.76 M3 x 0.5 70| 1.9 — — — — — — — — — — — — WITHOUT TAPE WITH FLANGE THROUGH HOLE (SEE SHEET 5) (SESFQHTEE/?Y% 1903015-8
0.76 &@2.65i0.5 701 1.9 - - - - - — - - - — - - WITHOUT TAPE WITH FLANGE THROUGH HOLE | (SEE SHEET 3) (SESZHTE@Y% 1903015-7
S| 076 | M3 x 05 50| 1.9 |54.4|120 | 4-30 |54.4| — | — | — | — | = | = | = | - WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) | ore gueet oy | 1903015-5 | B
0.76 | M3 x 0.5 70| 1.9 | 46 | 138 |6-23| 46 | — | — | — | — | = | = | = | - WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 4) | (off syeet g)| 1903015—4
076 | M3 x 05 |A 200 1.9 | — | - = — | 455|495|183| 05 | 44 |40.4|20.2] 20 WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 4) | oct areer 6)| 1903015-3
0.76 |/3\ #2.65+0.3 701 1.9 | 46 | 138 | 6-23 | 46 - - - — — — — — WITHOUT TAPE WITH FLANGE THROUGH HOLE | (SEE SHEET 3) (SESZHTE@YD 1903015-2
0.76 - A 400 1.9 | - | - - ~ | 335(37.5[9.32| 0.4 | 32 [28.4|14.2| 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) | (ogf aiper o) | 1903015—1
— Vv U T AN | S R P N M L K J | H| G F | E POLYIMIDE TAPE FLANGE SHELL TYPE | CONNECTOR PACKING PART NUMBER [
/AU PL.| B\SCREW SIZE| QTY DIMENSION PART LIST
THIS DRAWING IS A CONTROLLED DOCUMENT. |”'R 265EP2005
R.MURAYAMA o "
oK S6SEP2005 -_ TE TE Connectivity
DIMENSIONS: TOLERANCES UNLESS T.KIMURA
Bl R OTHERWISE SPECIFIER?  |APVD 26SEP2005 NQ%%
mm —HaE LKIMURA HDMI 19 POS RECEPTACLE ASSY
VR i P SMT SHORT TYPE
1 PLC 0
A @g2 e fs—78180-2 A
3 PLC + APPLICATION SPEC
4 p + WATERAR SIZE | CAGE CODE | DRAWING NO RESTRICTED
GLES + 55
VATERIAL FINISH WEIGHT AB 00779 @':'W 9035015 *
CUSTOMER DRAWING o 41 T 1 12 g

1470-19  (3/11)



1470-19  (3/11)

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, N
3 2 1 }
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION SEP ,2005. LocC DIST REVISIONS }
@ COPYRIGHT 2005 By — PLL RIGHTS RESERVED: — P TR DES?RE;PT\ON DATE OWN | APVD }
|
— | SEE SHEET 1 - — | = |
|
|
|
D 15.7 +0.1 D }
RO.3+0.1 ‘
TYP.(8) }
I
| ;. | A }
1 5REF g | | [
E o ¥ -t 19 #1 |
0.0 %003 © | i 3 REF 9 |
\ \
' +0.03 |
L TTTITIT TTTITIT L el # | 10.5 %0 S (@008l / E w
i | - R 13.25 +0.1 o P09 ‘ o 1
, < — |
| '% o - | ‘ }
! ! PANEL CUT OUT DIMENSION (REFERENCE) - E] i i ﬁ“ |
¥ + |
0 () i Te W | A\ of o ;
R A | Al ;
¢ ' Eo o | O o C
| Y « { {@ - |
e l -+ |
16.2 REF | |
' |
+0.3 A |
] #19 #1 +0.2 4—91.9 X 7‘
L 0.85 (LAND, BOTH SIDE) +o. 14.5%0.05 xi] |
B 15,7 +0.05 \ }
~ ) .

o :F P — % . (T/H) RS — |
S - = @ |9 CONNECTOR FRONT SURFACE |
N © o |
) |
|
|
418 ~ I ‘L P.C.B LAYOUT (REFERENCE) }
B — S_I’ SHOWN AS CONNECTOR MOUNTING SIDE B |
0.5£0.05 < 0.05| || ||| 1%00s TOLERANCE: NON—CUMULATIVE |
14.5 3160.1 430.1 }
I - . I ‘
15.7 | BRASS conTACT | (3) |
|
PHOSPHOR BRONZE SHELL (2) i
! GLASS FILLED LCP UL94V—-0, HOUSING @ \
— ' . BLACK COLOR —
CONNECTOR: WITHOUT FLANGE THROUGH HOLE TYPE |
:H L MATERIAL DESCRIPTION | ITEM ‘
L™ DWN \

& THIS DRAWING IS A CONTROLLED DOCUMENT. p—
oK - TE TE Connectivity }
L] DIMENSIONS: TOLERANCES UNLESS }
] ;-afrﬁ[wﬁ OTHERVE?QEAS;EC\H APVD Ng%% ‘
. 5 bLe j = PRODLCT SPEC HDMI 19 POS RECEPTACLE ASSY }
A REF 1 PLC BEER SMT SHORT TYPE A |

+

1.4 @‘E% Etg n APPLICATION SPEC |
4 p + Bt ERRR SIZE | CAGE CODE | DRAWING NO RESTRICTED }
GLES + 52 |
i T A 300779(G=1903015 = ;
CUSTOMER DRAWING B 41 T 2 w12 g |
|
|
\



THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION

SEP ,2005. LOC DIST REVISIONS
© ALL RIGHTS RESERVED. ZE
COPYRIGHT 2005 By — - P LTR DESCRIPTION DATE DWN APVD
15.7 0.1 — | SEE SHEET 1 - — | =
+0.
D ” $3.2 +0.1 .
. <V,
RO.3 ¥0-1 | 5
TYW\ |
(@)
—— | #19 #1
— 19 i 3 REF \ 9] —
N Te)
: : B +0.03
©o| <« i . 0.3 ‘\ 1 | 5 5 REF 5
— o )
i : o [2looel o3 3
8 ‘ | 0 S
o . N
-H(\l 10.8 +0.1 | © o ‘ |
: e L N
I < o I e H__l
PANEL CUT OUT DIMENSION (REFERENCE) . |5 | & CL%
12 gt0.3 b | w9 ' 8 ¥
C u o N { | 4 ~N 7 C
EE— | g | [+
pA l f % | *
' N\ | ,
L / A
A 4—21.9 +0.05 \
] 3 (LAND, BOTH SIDE) +0.15 14.5*% [=x1-] T
N ;: L 0.85 +0.2 —0.05 15.7:':0.05
o
H = $-0.08 X1 \
M L (T/H) - - PCB EDGE
t:l ~ 'j % CONNECTOR FRONT SURFACE
a [
H — 2
g T TAHaAA A T 2
P.C.B LAYOUT (REFERENCE)
5 SHOWN AS CONNECTOR MOUNTING SIDE 5
N ! TOLERANCE: NON—CUMULATIVE
(@] vl
A i
< OO L 1F005 POLYIMIDE TAPE (4)
S 200 BRASS CONTACT | (3)
! ' PHOSPHOR BRONZE SHELL (2)
GLASS FILLED LCP UL94V-0,
— ! BLACK COLOR ROUSING @
i CONNECTOR: WITH FLANGE THROUGH HOLE TYPE P e ——
THIS DRAWING IS A CONTROLLED DOCUMENT. |®™ p—
o - TE TE Connectivity
N~
N DIMENSIONS: TOLERANCES UNLESS
B B OTHERWISE SPECIFI APVD N%“%%
mm —Rax — HDMI 19 POS RECEPTACLE ASSY
0 PLC +
A 1 PLC B SMT SHORT TYPE
REF @ E g gtg i APPL\%AT\ON SPEC
14 4 ELES + N W ERRR SIZE | CAGE CODE DgAE\,N\NG NO RESTRICTED
MATERIAL FINISH WEIGHT AB 00779 @:ﬂ 903015 -
CUSTOMER DRAWING Fe 41 T 3092 g

1470-19  (3/11)



THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION SEP , 2005. LOC DIST REVISIONS
z
© copvriokr 2005 By - R R — P LR DESCRE;PT\ON DATE DWN | APVD
157 0.1 — | SEE SHEET 1 - — | =
REF ¢3.2 0.1
D 15 — D
. <,
0. £0.03 ~ [475
RQ.3 *0-1 | 5
—~ /@ TYW\ | "
LTI el - : i #1o 1
— (o | ul%D Sl 9 i 3 REF \ 9] —
! [Q\| fg]
I —_—t +0.03
| o < i . 0.5 ‘\ , 2.5REF
e ae | | 8 [@looslx S
! ! ! ' | / FT™e (19) ‘ +
n Te) (o))
‘ | ‘ = ‘ | ‘ © -
(@)
1) by | 10.8*01 | o [ﬂ[ﬂ* | PN ]
- 13.25 $0.1 — s J | ; '
16.2 REF ' fe A . N2 ot i
A PANEL CUT OUT DIMENSION (REFERENCE) 3 3 | A
W b | 0 ! T
: 220 R 2 e
AAYL ; : |
\ ' 1
/ \
| 4—01.9 14 5%0.05 \ —
* (LAND, BOTH SIDE) 40.15 . X1
ol L 0.85*0- _0"05 15,7 £0.05 \
5| o -0.08 X1 \
9| - (T/H) - PCB EDGE
M CONNECTOR FRONT SURFACE
[a\] ~ |
= S N
H*. _ __?]______ H‘JL‘M’
© .
] S P.C.B LAYOUT (REFERENCE)
B ‘ ‘ SHOWN AS CONNECTOR MOUNTING SIDE 5
o | TOLERANCE: NON—CUMULATIVE
#1877 W W\ #2 =5 g ]
0. 5£0.05 < oos| || _||[L 1%0.05 POLYIMIDE TAPE (4)
+0.1 0.1 101 BRASS conTACT | (3)
14.5~~ | 36 49
157201 i PHOSPHOR BRONZE SHELL (2)
' GLASS FILLED LCP UL94V-0,
—] | BLACK COLOR Housing | (D) |
P CONNECTOR: WITH FLANGE THROUGH HOLE TYPE L ST TV
(1 F i 40 O . THIS DRAWING IS A CONTROLLED DOCUMENT. ™ p— N
g e - TE TE Connectivity
' (\] DIMENSIONS: TOLERANCES UNLESS
| rﬁf&m*% OTHERVE?QEL\S;EC\H < [APVD Ng%%
- | - R B = — e HDMI 19 POS RECEPTACLE ASSY
A i | 1 H 1 pLe B SMT SHORT TYPE A
T A=
1 4 4 gL[S + N SIZE CAGE CODE DEEA%W‘NC NO RESTRICTED
e N weGHT A3100779(G=1903015 -
SCALE SHEET REV
CUSTOMER DRAWING ME 4 4 o 12" <

1470-19  (3/11)



1470-19  (3/11)

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, N
4 3 2 1 |
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION SEP , 2005. LoC DIST REVISIONS }
TE

@ COPYRIGHT 2005 By — AL RIGHTS RESERVED. — P TR DESCRIPTION DATE DWN APVD }
|
15,7 £0.1 - SEE SHEET 1 - — — |
|
3.2 +0.1 |
. ar -
|
|
<, \
- |
RQ.3 0.1 | 3 |
|
TYW\ | o) |
| |
— +0.2 1% ! I
16 | N L(') I |_______ . |
N SRR AR A AR AR © ' |
N S (Ad—] | |G = B | / |
Sjv @ ' 55 " o i g +0.05 }
J - | 2 . =xi-] *
| | | + o [Te} \
" | | | o i 10.8 0.1 0.3%0.03 | . = i

O - : H
7 A S - 13.05 £0. $10.06[X1 | ] g ;
" ‘ | ‘ YP. (19) | —] - |
N N - R (T PANEL CUT OUT DIMENSION (REFERENCE) mmmmmmmmmwmmmm [ﬂ[ﬂ[ﬂ ] }
I _ \ |

+ > |
C 18.2£03 g | Sl & C
© . e |
N M) < |
12:!:0.2 | ! © }
M3 PC.5 7 N P ' N D |
L | \ |
| _ oM | [
— M | — |
] L |
© g — - T ® |
o] ¥ I — }
|
g 14 0.1 9 g £0.1 |
H |
q—l |
ij CONNECTOR FRONT SURFACE | PCB_EDGE }
8 |
2 D!
0 ° P.C.B LAYOUT (REFERENCE) }
B o - 1 @ SHOWN AS CONNECTOR MOUNTING SIDE B
i © N TOLERANCE: NON—CUMULATIVE |
" R H |
|| |
| BRASS conTACT | (3) |
o |
2 PHOSPHOR BRONZE SHELL (2) i
. e I o)
CONNECTOR: WITH FLANGE FULL SMT TYPE |
MATERIAL DESCRIPTION | ITEM }
THIS DRAWING IS A CONTROLLED DOCUMENT. |®™ p— |
oK - TE TE Connectivity }
DIMENSIONS: TOLERANCES UNLESS }
B B OTHERWISE SPECIFI APVD Ng%% |
mm —Raz HDMI 19 POS RECEPTACLE ASSY ‘
0 PLC 4 PRODUCT SPEC

. 0 pLe Nk SMT SHORT TYPE Al
gi E E % Etg i APPLICATION SPEC |
4P + Bt ERRR SIZE | CAGE CODE | DRAWING NO RESTRICTED }
GLES + 55 |
et ies e WEICHT A 3100779(C=1903015 - i
CUSTOMER DRAWING T 41 T 5 012 g |
|
|
\



THIS DRAWING IS UNPUBLISHED. ‘ RELEASED FOR PUBLICATION SEP , 2005. LoC DIST REVISIONS
ALL RIGHTS RESERVED. zE
@ COPYRIGHT 2005 By — - P LTR DESCRIPTION DATE DWN APVD
1903015—=1, 2—1903015—=2, 5—1903015-1
A £ o 5—1903015—-5, 7—1903015—1; AS SHOWN T | SEE SHEET N i
D 4 £0.1 D
+0.1 o = 5—1903015-3; AS SHOWN 5—1903015-9; AS SHOWN 9—-1903015—-3; AS SHOWN
o 0 2 +0.1 o
7 o (SCALE 1:1) (SCALE 1:1) (SCALE 1:1)
B B ™
! ! - B0 00000000 wwwwwwﬁ B oo 000000000
| | .I \y l \l \y
[ S - ] L | ) .
o ) ! ! ) ; v/ == A; ,/ B - ( '/ — é .
i Es i - HHe g
/ | . ‘EE , ( sl ™ ‘ ‘ ‘ =™
I 1 fe—— 1 \ +H o
| X I_ X \ o + X | | ‘ )
L R l— — - 4 [ T | ! |
N cg_ _/_ . Lo 00000000000, %HHMMH# ooo000006000]
| ——E = =9 DETAIL A DETAIL A DETAIL A
‘ . n‘;l [}ng _,_I\“ ?CI’
| _'—I_ _|_|.|' I ™
| j - B - -
c et e =3 'l =) c
DETAIL A gREF 1519 B—B B—B B—B
- 1903015—-3; AS SHOWN
. | (SCALE 1:1)
. S T L
+ g
o WMMMMM@Y
‘ ! /
B—B I
bl | —
5 [o% - $380+5 SEE DETAIL A ! ! 5
- / 00000000000l
| 5 <ﬁ < /N DETAIL A
‘ — AIEiE DED/JDWWE WEEDING THE COVER TAPE: 300 MIN LABEL DESCRIPTION -
#80+1 (NOT INCLUDE EMPTINESS POCKET) BYTSO *PQ;I; *_1903015—* PET COVER TAPE
PLASTIC REEL PELLING ANGLE: 165°~180° D/C: iﬂi PS CARRIER TAPE
PULL OUT DIRECTION PEELING STRENGTH: MADE IN CHINA
— = 0.1~0.7N (300mm/min.) B—B PLASTIC REEL T
CARRIER TAPE ; MATERIAL DESCRIPTION
TEEEEE T THIS DRAWING IS A CONTROLLED DOCUMENT. |™™ pr—
L@ABEL = - TE TE Connectivity
DIMENSIONS: TOLERANCES UNLESS
B % OTHERWISE SPECIFIERS APVD Ng%%
mm —RAE e HDMI 19 POS RECEPTACLE ASSY
0 PLC + D
A | 400 MIN._| _WITH PRODUCT CHARGE,_|_25 HOLES MIN. @g; e - SMT SHORT TYPE A
' QTY: T PCS :
i Et;s i 4 A%%%gg% T SIZE CAGE CODE DRAW\NG NO RESTRICTED
M/};%«AL H{Nt‘iH WEIGHT AB 007/7/9 @':W 905015 —
CUSTOMER DRAWING T 41 T g 12 g

1470-19  (3/11)



THIS DRAWING IS UNPUBLISHED. ‘ RELEASED FOR PUBLICATION SEP ,2005. LoC DIST REVISIONS
@ ALL RIGHTS RESERVED. TE
COPYRIGHT 2005 By — - P LTR DESCRIPTION DATE DWN APVD
1903015—2, 1903015—-5, 4—1903015—1, 5—1963015—2; 5—1903015—4 g Ee— - B —
8—1903015—4, 9—-1903015—4; AS SHOWN
D OBSOLETE] s D
0
335-3
1 Ox 45" I\ 5103 54 3REF I\ 45£0.3
20.110.8
SEE DETAIL C |
— : |\ ]
_ ) U A\ -
2 ) ) ( ﬁ 5
[9p] | | 1
ﬁ _}‘ _\\//// | | | L
\/\\ 1~ | | | {E ] ] -
T) = | — I~ T
+ J VAN
[a | (a8 -
o | A :E [
(@] o - - - /
| | | — DETAIL C
S - ]/] (SCALE 2:1)
I=i A
] 0 | | | — L
S ] | | B y ] ']’-]
T T T T T E'I)
- )/ =
\k F— 1 fJ_L\J_l MM;—( [p— = —— A .
B B
MATING FACE
DIRECTION

: S =z
E = W PS TRAY —
:J%jj\— MATERIAL DESCRIPTION

| THIS DRAWING IS A CONTROLLED DOCUMENT. |®™

[ ]
>y ’ CHK y— N TE TE Connectivity
—]| 5 N DIMENSIONS: TOLERANCES UNLESS
/—H \ ﬁf&mﬁ OTHERVE%EAS;EC\H < [APvD Ng%%
¥ = \ o PLe B = 0 HDMI 19 POS RECEPTACLE ASSY
A ) 1 PLG HPHIE SMT SHORT TYPE A
/ @g 2 PLC +
3 PLC T APPLICATION SPEC
0—D 4 p o, Enfit i@ AR 58 SIZE | CAGE CODE Dgxwwc NO RESTRICTED
MATING FACE — GLES + A
DIRECTION (SCALE 2:1) e T A3100779(G=1903015 -
SCALE SHEET REV
CUSTOMER DRAWING cg 4 7 19 S

1470-19  (3/11)



THIS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION SEP . 2005. oC DIST REVISIONS
ALL RIGHTS RESERVED. TE
@ COPYRIGHT 2005 By — — P LR DESCRIPTION DATE DWN | APVD
1903015—-4; AS SHOWN — | SEE SHEET 1 - - | —
D D
0
3353
10x45° A\ 5 #03 24 3REF [N 4903
20_110.8
SEE DETAIL C
" I
| " L
.H
)
/2
b |1
L
o
H
o
N ]
'l
(@)
c 3 . - c
| <DETAIL C)
SCALE 2:1
’ 0 ]
@ —
N
] N _— -
? ] /]
T9) " —
o
.H
- =
A\ - -
B B

MATING FACE
DIRECTION

: w 7 . PS TRAY
y MATERIAL DESCRIPTION
DWN
o THIS DRAWING IS A CONTROLLED DOCUMENT. oD
oK - TE TE Connectivity

: DIMENSIONS: TOLERANCES UNLESS
. B & OTHERWISE SPECIFIER? APVD Ng%%
\ mm —hRaE HDMI 19 POS RECEPTACLE ASSY
0 PLC N PRODUCT SPEC
A L \ 1 PLC BB SMT SHORT TYPE A
I E 2 PLC +
6%9 3 PLC + APPLICATION SPEC
J 4 p + Enfit i@ AR 58 SIZE | CAGE CODE | DRAWING NO RESTRICTED
GLES + e
MATING FACE D-D e L e A 300779(G=1903015 -
DlRECTlON (SCALE 21) CUSTOMER DRAWING S(}:EAEE 4W SHEET 8 oF W2 REV S

1470-19  (3/11)



<C
m
O - :
(@R - m
i~ o
x
Zle : ~
w = O -
O
= ) : .
>
= L _
— o = H
E < c M o z
= : : T W
3 "Rk W
= © L -~
= S 0 | <
= [ Ll o) .
. T I O |Ym
n v % 3w
O
W - e
~~ S 5
O - : : _”_
N > :
- s O
<Y T _ .
: e o W O
av - 8 I~
2 B (Y] 5 2
Z ) 3 E
= : O
O K A
v RE 5
| e w M)
R w% o <
&)
: =
: =
Lol
: <
[0
% [
O
o | :
) S :
2 = %€ =
77 om 5
u 22 \S2\5 |9
2 % \25 \3 3
: W W £ & < =
o
II
N W :
9]
7] Q -
| \ = Zw H
O P{&
2]
m %EM -+ +H+H H
| o 22
9 : .
c 25 SYSRSNSYA1 =
£ |5 2ggoxyus
z o —am x|k
S
\ <C
- - 2 ..
@) m%
| L £ @]
TR A g1 g A g | o . e
A e e : I,
H— — — |
(Y m m @ |
HES
% i
- <
1
7 B T u “- I“-
R A b = !ﬂ“‘-— ._m-‘I n
nﬂﬂ!-“- -ﬂﬂ- E “\ulrl-ﬂl
R o o e o e Ve e Y _lx \f
L . f
1 1 M e e -
B T T [] N | =
T T i ] N 7] N ] u nunj — z
A [ JTh Adh IHI Hkllr@-lr i %_H
. [ _ _ _ _ _ _mArm
| | | I 3
Rd T rd g hg  hd g | n
T N s L
AR |
: = : | =z
o I _ T
S om w — _ =
d _ i :
o ) | | - | .
’ N T T | )
%) —
| -
: B 1 -
. - |
O —
II ~ ~ =
. | _ _
m ] ! ! ! _ ! ! !
z _ T T
1 q _ _ S J g Thdlh b R |
° T R 41 1hd] @ N
1 < seruTaraTuzarall,
° R T e o N o E=
e -
5 ] | | i
| A 1 R - =G / =
: = | o
: S | >
| , 1
& O Dmm
H %)
i 2 —__ Un ] %)
0 I/x
2] o
< H
< y)
o
_ g
5 5
m ) ﬂﬂNI@ %_H
> ) @ IO
| : : Lo L
919 2O i
AR I - N — -
2 . < lcor
- 18 _ U @ N :
o~
. o O ) 2z | |
13 5 N z
< | & o
14 o N
%] © (@) A_M
O — -
O
()

1470-19  (3/11)



= | z
< S a 0
= —
— O >
= > ol & 7 o
= | < | = 5
: 35 : \[c
@
= %) —
= > L > o
S =1 I
= @
5 = S| = =
oo Y .
< = < & 5
- OIT| 6 e
mn. a- — O W —
_ < O ol
Ll
19} — % o — =
— % O |4 m
o v P |3
N O %)
[an Iz O
O E M o 9
(@] % =z
% = A
z ~ — z
2k _ - I~ = 0
o 0 — = ®
= &|O [
o8 I - T O
© P g8
L ™~
©0 m O
| o~ m
~ Al Y N P
— — =R N
W N WAM = n A
% ol o ﬁ ﬁ
v _ = O
= T =
—H —H —H :
<C
o
) x
o o
Q L
o L hst)
Hﬁ ﬁ ﬁ 5\ 3% =
5\ (5w \ = || =
D+ =
= o 2 0f & 5 )
n <!t - "M 44— 9 F U4 Led ILd 1 o= \Nx > o \|o o U
n = T a & & o = ul
~ =) —H —H —H = s |< a < = QO
9]
\ 3 Mm +
~~ (@] SW%
- — o |8«
- Ollgd H N H H
[al e £z |
B (i
0 _._Ml_ m) <||= 0%
; I @) FE oooo BHL
o > [a'd @] — LS
A~ > Zll = Loaadg|zH
o m <C o Z | o—ams L
o O
N > — =i o
< <C
_ e 0 -
O mﬁ
z 2 €
= s
o S8
()] a i
S 2
x
- e
= =
=
M)
0
o
o
N
(ol
Ll
7]
a ]
=z W [
o |x oM o
E |5 | | <C
S & o ™ -
— - AN
S Ml N WAI —~
a5 ¥ mr N
‘W o — H V|
o <
2 2] O
- 2
[} N~—r
o
m
] N
>
<
Dn—\
T
a =
L
T N _L|_ﬁ|v
=N c© OF
o Q N, I W |
z o o~
2 o =
v | =C
&) = — —
3|k = 2
S| s
o | ° o
2 o :
[ 7 O M <C



1470-19  (3/11)

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, N
4 3 2 1 |
THIS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION SEP ,2005. LoC DIST REVISIONS }
@ ALL RIGHTS RESERVED. e |
COPYRIGHT 2005 By — — P LR DESCRIPTION DATE DWN [ APVD |
|
— SEE SHEET 1 - — — |
|
|
D D }
|
2 MAX |
|
|
CONNECTOR }
WITHOUT FLANGE TYPE |
|
|
— |
D 2 |
| | |
O - = 2 i
’ — |
N o I j—l L |
/| I ‘
|
|
|
|
|
MIN |
2 |
|
|
C o
SCREW |
x 9 MAX |
E(g |
| CONNECTOR — |
5 WITH FLANGE TYPE i
|
|
[

i N & |
1 |
<> — p—]| - ‘
; H | |
|| |
L I |
|
|
|
B B
|
|
2MIN |
|
|
|
|
MATING CONDITION (REFERENCE) }
(SCALE 2:1) |
| I
|
|
|
DWN \

THIS DRAWING IS A CONTROLLED DOCUMENT. P
oK - ’E TE Connectivity }
DIMENSIONS: TOLERANCES UNLESS }
B B OTHERWISE SPECIFI APVD Ng%% |
mm —hRaE HDMI 19 POS RECEPTACLE ASSY ‘

0 PLC 1 PRODUCT SPEC
1 PLC R SMT SHORT TYPE |
A 2 PLC + A
@g 3 PLC 5 APPLICATION SPEC |
4 p + Enfit i@ AR 58 SIZE | CAGE CODE | DRAWING NO RESTRICTED }
GLES + e |
VAT RS WEIGHT A 3100779(C=1903015 - }
SCALE SHEET REV

CUSTOMER DRAWING RE - 11012 S }
|
|
\



) <C
(@]
= |l z -
< O a v
= =
— QO >
>l x 7 &
s = 3
g || x| a ~
=1l O o
9T 2 T
& [} > [
& [ - % S
Ll 9] AN
= -+
: R -
+ L
] K— 7 K <C O L
| = C < n T
wlx|l < = 2
“ SlEl S| &F
] —
< — ..
S - I = w O 0 | <
| [ = ax O —
T o |
n v 22
S M |CK
= o 2
I 1 c |2 o
Z i [ [ [ — = _”_
.‘nluntuﬂ 1 Il 1 AWn_urJ
5 . ; —— = ®)
=Y |O f i O
M w O
" I - - g ™~
g O ©0 o~
H o | < O
3 1y
3 < -
— o - ) w N
— | N g N
" © = 2w o <C
% = ol = I
~
RIS i -
; | I =
= -
g ] =
| =
- <C
(0%
[heg
: =i=1=1 A [B
o e
%]
— Q
o M S\ |z =
| n ow o
— =
c& | |38\ = ||
5o - M o e e Bz \ze \la |G
5 |5 |z |2¥ \2F 2 O
] = N A
S 7 — [ fau
S = |45
=H=0=1 BRI
O S
o S_\&M
- e M%M& HHHHH
TR e |
- L HEd
.
- Illllﬂ S |75 9999siny
[a = PPPPPGW&
W_ o) < W O amwF|E
N’ | s S
<
@ gl ® <
> =l
< )
= o Ty
z O ¢
Z S -
= lggt
o =%
- =) 5 .
< % ¥
T WR
- I = <=
—~
0
o
o
2 —
[a R
[}
n J
._
) HNES
z M L +
|| E N -
< %] .
o |¥ ol ™M - (&N
W o — <t - 1 VI
> 5 "l =
o
14 M I if VIA
) O
e 92
o |< N
L
% m
oF >
%WW <
— [net
0 - <
S
o~ >
| &
o)) —
=
wo
b O
0
[a'
0 =
c© nNuD
H =
< ™ <
) M <C

1470-19  (3/11)



